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1508 563 eSO S¥)0d. sec  ( — v/2)

o Watch Video Solution

2.300 63 DeOD S08)0k. cot ' ( — v/3)

o Watch Video Solution
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3.308 3°¢3 QeI ?cﬁ)fzjo&g. sin [% — sin~! ( —

o Watch Video Solution

4.208 3 HenSdD %“éa’é‘&oc%. sin ! [sin {5%] ]

o Watch Video Solution

5.308 a°¢3 Qenderd fé)'é‘z)oc%. cos ! [cos [%Tﬂ} }

o Watch Video Solution

6.308 °¢3 QeSO %":63%20&. sin [ <cos -1 [ 2

I
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° Watch Video Solution
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7.308 3263 DEVIOD ?&f&oé. tan (cos ec ! [%] )

o Watch Video Solution

8.208 63 eV ?é)%‘&oc}z. sin (2 sin ! (%)

° Watch Video Solution
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9.308 3°¢3 DEVIOXD ‘é"cﬁ)‘?&o&. sin ! sin(T)

° Watch Video Solution

10. 308 3°¢3 DD %"a’)ﬁ&o&g, cos ! cos (%)

o Watch Video Solution
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11. 808 3D H$9580:50¢. tan [

sinx
1+ coszx

o Watch Video Solution
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12. 308 3°¢3 28950050, tan 4 / el
14 cosz

° Watch Video Solution

13. 808 3 895805083,

sin_1(2cos2 0 — 1) + cos_l(l — 2sin? 0)

° Watch Video Solution

14. 308 7e30 H§9580506. tan ! [w ++4/1+ wﬂ ,T € R.

° Watch Video Solution
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15. 308 63 2D

(cos 1) 5 + (sin ") % .
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o Watch Video Solution

16.308 2763 eI $03)0&. sin ((cos )

+ (cos ™)
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° Watch Video Solution

17.308 3°¢3 DenIOD §<63‘§’2j0(§. tan [(sinl) % + (cos ™)
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o Watch Video Solution

18. 208 3763 Den SO §<63%“2)oc‘§. cos (sin ') %

+ (sin_l)

° Watch Video Solution
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19.308 ¢3Q Hr2rd) S0N0G. tan [ ((2 tan~ 1)

o Watch Video Solution

20. 308 3D Hed S000G.
-1 ]- -1 2 . 3
cos{2!(ta,n )Z + (ta,n )6}} =z
o Watch Video Solution
21. 208 3D Hed S000G.

(tan ") 7 + (tan ) 5 — (tan 1) 2 =0

o Watch Video Solution
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22. 208
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(tan )5 + (tan ) 3 + (tan ?)

o Watch Video Solution

23. 208 3 DD 20005
tan~3/4 + tan~'3/5 — tan~'8/19 = g
o Watch Video Solution
3 DY =0005.

24, 208

(tan ") + (tan") 5 = (cot ™) - + (cot =) (1)

° Watch Video Solution

25. sec? (ta,n_ 1 2) + cos ec? (cot -1 2) = 10 99 SPH0CG.
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| o Watch Video Solution

26. ‘tan ((cos”-1) 4/5 + (tan”-1) 2/3) QLD §<63(§5&0(%.

o Watch Video Solution

27. 30& 63 [ SFTNY) =000,
(1 (1 (1 T

o Watch Video Solution

,/1 2_,/1_ 2
28. o = tan " e v e90NS =2 = sin2a O
V1422 4+ /1 — 22
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o Watch Video Solution
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( tan_l(\/l + 2 — 1) ]
29.ta,ni2 . } = T 9 IPHOCG.

° Watch Video Solution

. 1 2z T x? .
30.sin (cot ) + (cos ) = 109 APN0C.
1 — 22 1+ 22
o Watch Video Solution
31. If cos ‘p+cos tgtcosir=nm then,

PT.pPP+¢@+rt=2pgr =1

o Watch Video Solution

-1 -1
sin 2 1—¢q? tan 2z
32. If J —cos_l( a ): ( ), then prove
1+ p? 1+ ¢? 1— x2
thatz = -2
1+ pq
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33.1d a, b, c are distinct non-zero real numbers having the same

sign. Prove that

1
cot ! ab+t 1 + cot ~* betl + cot ! cat =m( or )27
a—>b b—c c—a

o Watch Video Solution

34, If sin '(z)+sin"'(y) +sin '(z) =m, prove that
T 1—:1:2—|—y~/1—y2—|—z\/1—z2 = 2zyz.

o Watch Video Solution

35.1ftan 'z +tan 'y +tan lz=mthenz +y+ 2z =

o Watch Video Solution
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36. 208 a°¢3 denden &6)%‘2)0&9. sin ! ( - —)

o Watch Video Solution

37.208 a3 enden §c6>§&oc39. cos ! ( — ?)

o Watch Video Solution

38. 208 a°¢3 denden &6)%62)0&9. tan ! (i>
V3

° Watch Video Solution

39.808 a°¢3 devasen 380k, cot ! ( — 1)

o Watch Video Solution
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40.308 a°e3 denasen 38 0k, sec” (- 1/2)

o Watch Video Solution

41.308 0¢3 Denden §c‘\’1)§52)059. sin~! (sin(%))

o Watch Video Solution

42.308 3063 denden §<§)§ZOCQ@. cos ! (cos (4%))

o Watch Video Solution

43,208 763 Denden &63?250&. tan ! (tan(%))

o Watch Video Solution
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44.308 3¢5 denden §<63%‘&oc%. sin (Cos -1 (%) )

° Watch Video Solution

45,308 33063 denden §<§)‘§s&od’9. tan (sec_1 (2—75))

° Watch Video Solution

46.308 °¢3 denden §c63§62)0&. cos (ta,n_ 1 (2—74>)

o Watch Video Solution

47.208 3063 denden §c§>§5&oé. sin (ta,n_ 1 (%))

° Watch Video Solution
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48.308 °¢3 denden §é)§5&0&9. sin(Z —sin~! ( — (

o Watch Video Solution

49, 208 063 IJSMNIOW

e () ()

§<63‘§‘2)oc%.

° Watch Video Solution

50. 308 3°¢3 denden §é)‘s‘2)oc3g. sec? (cot -1 3) + cos ec? (tan_ 1 2)

° Watch Video Solution
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51.cot ! <5> + cot 1 (5) QNN gc‘\l).)%‘z)OC%.

° Watch Video Solution
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52.sin_1(%) + sin_1<%> — sin~! (%;) 29 P DOCG.

o Watch Video Solution
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1— z2

53.z € (—1,1) e00e 2ta,n_1x:tan_1( > ORIV ANy

000G,

° Watch Video Solution

4 5% 16 T
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54. sin <g> + sin <ﬁ> + sin <%> =3 9 HDerd)

=0D0G.

° Watch Video Solution

55.cot 19 + cosec” ! (@) = % 29 H2¥Y) BODOG.
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| & Watch Video Solution
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56. cot [sin_1 7 = sin(tan_1 <§> 29 P NOG.

° Watch Video Solution

57.ta,n(2ta,n—1 <%) - (%)) DS EHE)08.

° Watch Video Solution

58.sin_1(%> + 2tan_1<%) = % 9D B2 BODOG.

o Watch Video Solution

59. cos (21:&1,11_1 (;)) = sin(4ta,n_1 (%)) 09 B2 FONOG.
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60. If sin"tz+sinty+sintz=nx then

2t 4yt 4 2t 4 da?y?e? =

o Watch Video Solution

_1(P —1(9\ _
61. Cos (E) -+ cos (3) = q, €900)e3
2 9 2
p_ — ﬂb - cosa + q— — sin® o 09O 2z S000G.
(12 a b2

o Watch Video Solution

Cso—1 5 .o—1 12 . ™
62. Solve : sin — ] 4+ sin — ) = =
T T 2

° Watch Video Solution
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63. Solve sin! = +sin T — =sln "z

o Watch Video Solution

64.Solve sin 'z + sin 2z = 3

° Watch Video Solution

65. sin [2 cos ! {cot (2 tan ! :c) }] = 0 9013 x & §<ﬁ)§6&0é.

o Watch Video Solution

2 +1
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66. cos [tan ' {sin(cot ' z)}] =

o Watch Video Solution
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